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What is an attribute in a relation ?

(A) A database column
(B) A database row

(C) A database constraint
(D) A database table

(E) Not attempted

2. If the cost price is 96% of the selling
price, then what is the Profit percent ?
(A) 4.17% (B) 5.17%
(C) 6.17% (D) 3.17%
(E) Not attempted

3. Haryana Govt. had declared which
among the following year as ‘The Year
of Industry and Employment’ ?

(A) 2012 _—
(B) 2013 f."%*"%-#
(Q) 2011 o
(D) 2014

(E) Not attempted

4. The outermost solid cover or shell of
the earth is known as

(A) Sima

(B) Sial

(C) Igneous

(D) Earth crust
(E) Not attempted

5. Anil introduce Rohit as the son of the
only brother of his father’s wife. How
is Rohit related to Anil ?

(B) Uncle
(D) Son

(A) Brother
(C) Cousin
(E) Not attempted

. 7 7

PR PR 7
(A) T ST FHem
(B) U STEH U
(C) T ST FHiamz
(D) T 2T ue
(E) FTsrntEa

2. R 9 TEA o e o 96% 2, A1
@y fova F= R 7 P “‘gfxﬁ?
L) 4.17% (B) 5.17%

J'
(C) 6.17% (D) 3.17% "*":”
(E) Zrsenfa el

3. BT TR 3 Pt § & fe ad w5
c e 3R AR 1 A oifee R @ 7

(A) 2012
( (BY'2013
(C) 2011 B

(D) 2014 gefi
(E) H9FTHA

4. gt & ge8 ARl 3E wa a1
el 8 |

(&) Hm

(B) Taama

(C) T
LAD) et < s

(E) 3T

5. ot Afia w1 TR=w suh frar 6 oeh
F TEHNTE WIS & G T H e R
U arfre & fFe R gaftm 2 7

(A) WE (B) ==
LAC) SR T (D) 9=
() e
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The water accumulated under the
ground surface in this manner

(A) Well (B} Canal

(C) Ground water (D) Spring

(E) Not attempted

With the help of which of the

following international organizations,

Haryana Community Forestry Project

was started ?

(A) World Bank

(B) European Commission

(C) South Asian Association for
Regional Cooperation (SAARC)

D) None of these E%E
” i

(E) Not attempted

.  Which Article in the Indian Constitution
is related to the Equal Justice and Free
Legal Aid ?
(A) Article 39A
(C) Article 39D
(E) Not attempted

(B) Article 39C
(D) Article 39B

Full form of RKVY is

(A) Rashtriya Krishi Vikas Yojana
(B) Rajya Krishi Vikas Yojana

(C) Rajya Kendra Vikas Yojana
(D) None of these

(E) Not attempted

Which function is used to free up
memory allocated by mallocl(), calloc()
or realloc() ?

(A) clear()

(C) free|)

(E) Not attempted

(B) reset()
(D) deallocate()

CG - CG23

6. 79l @ i F war % Fra 7@ THOT
&l 8

(A) F3 (B) T&

\_AC) ST e (D) fam
(E)

7. Frafafes @ fr saddis e H
HER & g angerfies arfEh g
HH B 7
(A) fova &=
(B) TEA 3T
b@;wqﬁmmﬁmﬁm

FAHTHIH (SAARC)
(D) 59 | I &
(E) 3Tvarfea

8. R HRUM F1 FH-91 3T=0e AH
& g AlusR R g fafas gama |
et 8 7
L&) 33T 39A  (B) 3I=8E 39C
(C) 3T=8g 39D (D) =8¢ 39B
(E) ZIwanEa

9. RKVY & famar &9 2

) T Y fasr aem
(B) T=¥ Hfy faawry s

%ﬁg% (C) T4 =hg Frmera Msm

© 7 (D) ¥ @ i
(B) arnfia

10. malloc(), calloc() IT realloc() G
refea WAt @1 v ww F o feg
e 1 3ui fean sen @ 7
(A) clear() (B) reset()
(C) free() (D) deallocate()

(£) 3tamfaa
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11. RIDF was established in

(A) 1995 - 1996 (B) 1992 - 1996
(C) 1993 - 1995 (D) 1992 - 1993
(E) Not attempted

Which of the following is used to
manipulate data from a database ?

(A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)

12.

(C) Data Definition Language (DDL)
(D) None of the abave
(E] Not attempted

13. Evaluate : 28% of 450 + 45% of 280.

EI%EI
B) 356 oLl
®) E%*
(D) 254

(A) 252
(C) 201
(E) Not attempted

14. Which Article in the Indian Constitution
is related to the Abolition of
Untouchability ?

(A) Article 117
(B) Article 18

(C) Article 121
(D) Article 17

(E) Not attempted

was the longest serving
Governor of Haryana.

(A) Birendra Narayan Chakraborty

15.

(B) Ranjit Singh Narula
(C) Jaisukh Lal Hathi
(D) Dharma Vira

(E) Not attempted

CcG - CcG23

11. RIDF % zenrfir &3 |
(A) 1995-1996 (B) 1992 — 1996
_Je) 1993-1995 (D) 1992 - 1993
(E) ST
1o, P & R S 2299 &
foar T & 7

221 F HIGR FH & o1
) Far Bfede @t (DML)

(B) TZA=E Fall o (SOL)

() 31 &ftFeftem e (DDL)

(D) I | § HIE T q

(E) v i 4 ,,-i’;"; H";?; ’}:5

450 I 28% + 280 T 45% 'ET‘HH T

=t | 126 +1 6

13.

L-{A) 252 (B) 356
(C) 201 (D) 254
(E)

14, ST GREYE F SH-T1 TG
STEagial % e @ gafua 2 7
(A) =g 117
(B) 3Tq=0g 18
(c) FF=Pe 121

(AD) TR 17
() TR

,____——m%m?ﬁmaq;
e @ TS ¥ |
LK) e A0 Sshe

15.

Eﬁ?ﬂm‘g‘ (B) ofta firg e
ES=

(c) agE e geft
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19,

S -
{A) Nationa]
Scheme Argument Insurance
(B) Nationa] 4
Scheme o 'cultural Insurance
(C) Nationa] A
Survey  Suments Institution

(D) None of thege
[E] Not E.tt&mpted

Pointing to a photngraph, a man said
“I have no brother or sister but tha.tj
man’s father is my father's son”.
Whose photograph was it 2

(A) His son’s

(B) His father's

(C) His own

(D) None of these

(E) Not attempted

Transformation of Aspirational Districts
Programme was announced by

(A) Atal Pension Yojana

(B) Pradhan Mantri Yojana
(C) NITI Aayog

(D) None of these

[E) Not attempted

F{ O}
E.lu_; «

Bus

What is a stream in C Program 7

(A) A way of handling input/output
operations in a prﬂgif o -

(B) A type of loop used in decis!
making structures o]

(C) A type of function U8
manipulate striné

(D) A type of data st
store variables

(E) Not attempted

5
cture used to

16.

18.

CG - CG23

NAIS %1 o= &9 2
(A) ATE ITHE SwgE whM

(B e SAfliehee S Eh

(€) e iz SeTEe W
(D) 37 & FI¢ T
(E) 3Twanfém

wh ot 1 3§ g, T R
3 w1, “HU S WS A g AR 8 TG
wfdr & fen 3 faa % g € e o
farma 2 7 ()

(A) I A I '

(B) I foem =1

(C) ITHT TT FH

(D) 37 & 1§ TH

(E) stanfem

el Pren wrlmy %1 Faia, T8
HAHH & =i FRam )
(A) 3Te U9H Fra

(B) WU A

te) Aifa smm

19.

(D) ¥8 8 %13 T
(E) warféa

commAEHFEIR ?
(A) T S § F9E/ ALY FAEH i
F 9™
(B) Favia o waeht T i I9En Ry
FH ATel T T H1 T
(C) &g =i ufeda 0 % ferw Iwpy
foF 9 a1e U R = w

IAD) T T 1 81T HOEAT T Suem

- g § foF s 2
(E) FHwifa
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What was the percentage increase
in the foreign exchange reserves in
1997 — 98 over 1993 -94 ?

. E8 8888

FOREIGN EXCHANGE RESERVES OF A
COUNTRY(IN MILLION US $)

1991-52 199293 199394 199495 1995-95 1996-97 1997-98 199493

22.

(B) 200
(D) 100

(A) 150
(C) 620
(E} Not attempted

Which of the following is used to
define the structure of a database ?

{A) Data Manipulation Language (DML)
(B) Structured Query Language (SQL)
(C) Data Definition Language (DDL)

(D) None of the above
E5E

(E) Not attempted oL

Full form of IMREB is

(A) Indian Market Rural Business

(B) International Market Research
Bureau

(C) Indian Market Research Bureau
(D} None of these
(E) Not attempted

CG - CcG23

1993 - 94 ¥ 1997 — og & Tt AT
srep B ufasrd =ga = oft ?

FOREIGHN EXCHANGE RE
COUNTRY|IN MILLION US $)

: 3 o
1901-97 199293 199394 199485 199596 199697 195798 s

ELE (C) 620
“E’?:ié
(E) 3rnfad

(A) 150 (B) 200 Sﬂ-f;;‘;j
B} 100 2527

21. Term @ wrE H ThMIRE FE & g

frer 3 ¥ Remer wm fFn S 7
(4) T2 AR T (DML)
wofl] ®EE Tl A (SQL)
. e 21 efEdee efEE (DDL)

(D) ﬁﬁﬁﬁﬁﬁ

(E) Fwafyd

29. [MRB % fawr 9 &

(A) $feTm wrhe = T

(B) Fetore Ahe fee =gt
LAC) e ke T =

(D) 7 & Wig T

(E) ST
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23. This person bec
be appointeq as
Punjab High ¢

(A) Sir Shadily

€ the first Indian to
€ 1* Chief Justice of
in 1913

':D] Sir Chﬂtu Rarn
(E) Not attempteg

. National Agrj
24 i Tﬂmtural Co-operative
arketin .
118 Yederation (NAFED) was
established on
(A) 2™ October 1985
4
(B) 2 September 1958 B
(C) 2*October 1983 )
(D) 2™ October 1958
(E) Not attempted
5. Who was the founder of the Shunga
Dynasty ?
(A) Bimbisara (B) Agnimitra
(C} Pushyamitra (D) Ajathashatru
(E} Not attempted
6. A cyclist covers a distance of 750 m

in 2 min. 30 sec., what is the Speed
in km/hr of the cyclist ?
(A) 12km/hr  (B) 17 km/hr
(C) 18 km/hr (D) 13 km/hr
(E) Not attempted
7. Which of the following modes is used
for opening a file for appending ?
A) (B) ‘@’
€) % (D) W'
[E) Not attempted

o

CG - CG23

23. 7@ fH F 1913 % Gmg 39 =mwd F
e WA @ = 3 = 3 F
o

&) T IMEeATE
(B) 2. W&y fim
(C) =gl sfere

% (D) W B

T4s) 2 wregat 1985
(B} 2 fa=t 1958
(C) 2 FFET 1983

D) 2 HFES 1958
(E) 3mugiEm

25. 7 99 1 TGS HF A1 ?
() fafrmm (B) R

AC) Tt (D) AT
(E) 3Twanfem

T HIEHH AR TH 750 m H gff
2 T2 30 ¥8 7 H wha B, W

26.

"R i T km/hr § F0 R 7 %%Léxg
(A) 12km/hr  (B) 17 km/hr

AC) 18km/hr (D) 13 km/hr
(E) Twfya

27. WIE F WA ¥ w15 went  fg
32 R 1S 1 ST o e 7

{Pl] T L[ﬁ] ‘q'
() % D) W’
(E) arier
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28. Which type of join returns only the

rows that have matching values in
both table ?

(A) Outer join E[Béft join
(C) Inner join (D) Right join

(E) Not attempted

29, Full form of MUDRA is

(A) Micro Units and Development
Refinance Agency Ltd.

(B) Micro Units and Development
Reference Agency

(C) Mantri Union Development
Refinance Agency Ltd.

(D) Mantri Union Development
Reference Agency

(E) Not attempted

30. Which planet is known as the “Watery
Planet” ?
(A) Earth (B) Mars
(C) Jupiter

(D) Mercury
(E) Not attempted '

Which of the following pairs is

correctly matched ?

(A) National Dairy Research Institute :
Manesar

(B) YMCA University of Science and
Technology : Faridabad

(C) Lingaya’s University : Hisar

(D) National Brain Research Centre :
Hisar

(E) Not attempted

layer lies below the crust.

(B) Rocks
(D) None of these

32.
(A) Core
(C) Mantle
(E) Not attempted

2 e & s g it 3 PR
I E 7

’ (A) WEQ ST (B) I
(C) iRk g (D) A
(E) Swafed

20. MUDRA F forga &9 2
_AA) TSR IfieE g TaemHe REmATH

wardt fefies
Qﬁﬁnﬁaﬁa@aﬂﬁa%ﬁmﬁﬁﬁﬂqﬁﬁﬁ
() i g Faeie fewTE o
feafiree
;?%% [D;nﬁiﬁlm%ﬁmﬁziﬁuqﬁxﬁ
BT () Enfad
30. frg TE I “Sefa UE” FEd & 7
Lta) gt (B) T
(C) Feeufa (D) 4
(E) e

31. Frfafes 3§ & R-w1 7w gferm & 7
X(A) TS ST STTHYT TRUW : R

R G Ep——
PG B R UHE

() ferman gfafdfe : famm
X (D) T WSS IqHGH Sy ; fmn

(E) 3T
32. T R % 9 B 2
(A) I (B) Tg
LAC) (D) ¥ & s 74
(E)
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. wvllll 1""’4.1-t;‘u-:1'z,:~
is related tq tITz the Indian Constitution

village Pﬂhthayat;;g;"nizﬂtion of the

(A) Article 39

(C) Article 4, [[E] Article 45

(E) Not attempgeg ) Article 40

(A) strepyy()

(C) strrev()
(E) Not attempt Edk{m, Streaty)

. ]!'a:h=5:gandb:
finda:b:c.
(A) 36 : 20 :
(B) 63 : 20 : 36
(C) 20:63: 36
(D) 20:36: 63
(E) Not attempted

c=4:?,th¢n

63

. Recently, Jahanara Bagh Stadium in

Jhajjar district of Haryana has been

renamed as

(A) Hemchandra Vikramaditya
Stadium

(B) Narendra Modi Stadium

(C) Maharishi Dayanand Saraswati
Stadium

(D) Rao Tula Ram Stadium
(E] Not attempted

+ The regulated and controlled distribution

of essential goods among people means

(A) National Institute of Agricultural
Marketing P .

(B) Source of Agricultural Cretdl;] in India

(C) Public Distribution Syste

(D) National Cooperative "
Development Corporatio

) Not attempted

N

33. mm'ﬁmﬁ:{,wwm
TERd % WA § wHafya 2 7

BEE (A) =T 39
S (0) g 41
(E) 3t
C st # fgn e 3 foe B
ATES SR =1 IugnT fn wen 2 7
(A) strepy() (B) strlen()

(C) strrev() (D) streat()
(E) 19t

It a:b=5:93Mb:c=4:7, @

ﬂ.:h:ci’l’lﬁfﬁl -

(A) 36:20:63

(B) 63 : 20 : 36

(C) 20:63: 36

\_{B) 20:36:63
(E) 3rwiiia

36. B & #, shEmn % e fe % SR
I LIETH &1 A "eoet
Toram T B

\tA) 2wy fasmferr Sfemw

(B) Tz Hidt wieam

(C) wElthy gaFe swadl wfzam
(D) T& qen T wfean

(E) e

A 3rEvEs aEga & afa sl
fratm famor o fom o 2
(A) U HiY faaur segm

(B) W ¥ S W/ Hia
uzﬁrﬁerﬁasﬁmmmﬂ

(D) T TEehTlt foepm =iuTiem
(E) Irvaifia

34.

35.

529 .

37.
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38. “Mountbatten Plan” regarding the

partition of India was officially declared
on

(A) 10 June 1947
(B) 03 July 1947

(C) 03 June 1947
(D) 04 June 1947
(E) Not attempted

39. Which of the following was the theme
State of Haryana’s famous Surajkund
International Crafts Mela, 2022 ?

(A} Punjab

(B} Jammu and Kashmir

(C) Himachal Pradesh

(D) Uttarakhand

(E) Not attempted

A deposition of sand which results in
a long, narrow embankment in the

sea near the coast is called

{A) Lagoon (B) Latitude
(C) Beach (D) Sand bar
(E) Not attempted

Complete the following Analogy.
Cardiology: Heart:: Mycology :

(A) Shells (B) Skull

(C) Fungi (D) Diseases
(E) Not attempted

41.

The two general categories of crop
insurance are called
(A) Crop-price insurance and crop
insurance
(B) Crop price insurance and crop
revenue insurance
(C) Crop-yield insurance and crop
revenue insurance
(D) None of the above

(E) Not attempted

42.

38

4

-10-

iz A S w3 R ¥
" et o, I et g

# T

(A) 10 9[d 1947

(B) 03 T3 1947

03 S 1947
(D) 04 5[ 1947
(E) 3rsEnie

a0, Frafeifiaa & ®-a1 ghawn % WHG

HEAHE T HIRE Hedl, 2022
g T o

40, Ya %1 smma Fud ghm wEY U o,

" FFT g % We WS4 A 2,
E__m%i )
(B) 31EATw
(C) T5 TR (D) Ifrelt
(E) rwarfed

1. Frefofes wream gf Hifvw)
i : 82 WIEhIET :
(A) (B) @
1AC) FF (D) Tm
(E)

42. e @ @ " St

—_———

Frardl 8
(A) wEE Ted I FHer
By & Hed ST 3N e Trore i
(C) ot Jeared AT 3 et qrorey 4
(D) I | | i e
() 3rrnfed

¢

4"
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45.

46.

7.

S€rves as a connecting link
between Himalayas and Haryana
plains.

(A) Aravalli hills

(B) Morni hills
(C) Mewat hills
(D) Tipra hills Az
(E) Not attempted e

Pradhan Mantri Jan Dhan Yojana
was launched on i

(A) 28" August 2016

(B) 28% November 2014

(C) 28" August 2014

(D) 28* November 2016

(E) Not attempted

The largest planet of the solar system is
(A) Saturn (B) Uranus

(C) Jupiter (D) Neptune

(E) Not attempted

A, B and C started a business by
investing Rs. 1,20,000, Rs. 1,35,000
and Rs. 1,50,000 respectively. Find
the share of each out of an annual
profit of Rs. 56,700.

(A) 4:5:8

(B) 8:9:10

[C) 5:6:3

(D) None of these

(E) Not attempted

First Mobile Court of Haryana was
set up at Mewat in

(A) 2003
(C) 2007
(E) Not attempted

(B) 2005
(D) 2000

-11-

Uiy = Clx i3

43. _fewrem siv gfamm & demi &
= & w3 B
(A) 3EE i qgifegi
(AB) AR H wafEai
(C) Hag 1 vaifeaf
(D) Teau 6t st
(E) 9Tt

NUFEEAT 9 99 A1 1 370H
w1 foar )

(A) 28 ITE 2016

(B) 28 F& 2014

\_{€) 28 37T 2014

(D) 28 &= 2016

(E) A
45, Hie e o 998 931 e B
(&) = (B) I
|AC) FEefa (D) =
(E) FTw=miEa

A, B 3 C 9 %. 1,20,000, ®. 1,35,000
3 ®. 1,50,000 FA9: o #1180 w
FHER & fa1| 9 @19 €. 56,700 &

46.

T ik @ F Tedish w1 39 T A
(A) 4:5:8 m;ﬂl—a“i i
%ﬁwafgflﬂ #3{5-1”
U (C) 5:6:3 /@f
(D) T & F13 Tl
(E) 35t
47. TEEH T gRen it ggel
TraTee =amrTed wiiud fmam mr |
(A) 2003 (B) 2005
\_{€) 2007 (D) 2000
(E) ST
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48. If \/15= 3.88 then find the value of “E :

(A) 5.60
(C) 1.2933
(E} Not attempted

(B) 7.80
(D) 13.97

49, IfD =4 and COVER = 63, then

BASIS = ?
(A) 50 B) 54 Gvs-
(€) 55 D) 49 2

(E) Not attempted

50. In which year, British Guvcrnmcﬁt
politically divided Haryana into two

parts ?

(A) 1805 .
(B) 1810 i
(C) 1815 B
(D) 1800

(E) Not attempted

51. Mixing of unwanted substance with
water is called

{A) Sound pollution
(B) Water pollution
" (C) Nuclear pollution
(D) Soil pollution
(E) Not attempted

52. When did Mauryan Empire begin ?

(A) 323 BC
(B) 322 BC .
(C) 289 BC %%
(D) 326 BC

(E) Not attempted

ca - CG23

48, A J15=3.888, g*‘mm
Hi |
(A) 5.60

E) 1.2933
(E) Fseiféa

49. R D =4 3 COVER = 63, A

RN
BASIS = 7
J mn

_IAF 50
(©) 55
(E)

s0. ffew w3 TehE @ w R H T
H 21 v & ste fean

\4K) 1805
(B) 1810
(C) 1815
(D) 1800
(E) ST

51. & % WY Iarea e w1 feen
FEAE 2

(A) S ST
(AB) STt S
(C) Tftrhr Feym
(D) qe&1 e
(E) ST
52. WY WS SE TE I 7
L4A) 323 BC
(B) 322 BC
(C) 289 BC
(D) 326 BC =
(E) e

(B) 7.80
(D) 13.97

(B) 54
(D) 49

-12-
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Fhaher

" (B) Kisan fair

 Which of the following is the fastest

The most widespread form of

adV'e rising and is the favourite of the
Indian rural magsges

(A) Magic shows

(B) Wall painting

(C) Folk media

(D) None of the above
(E] Not attempted

In Haryana, this famous fair of

Karnal is held on every September
(A) Gopal Mochan fair

(C) Gangor fair
(D) Mango fair
(E) Not attempted

Find the average of all prime numbers
between 30 and 50.

(A) 49.8 (B) 39.8

(C) 38.8 (D) 59.8

(E) Not attempted

memory in the memory hierarchy ?
(A) Primary memory
(B) Secondary memory
(C) Cache memory

(D) Tertiary memory
(E) Not attempted

2y

CWYD

t The cost of Living alm:a}rs

depends upon their wa;;;jﬂ;ﬁabmlemfs,

So, the Income Jevels are '
nded upon the

e
most of them arc d:]pre. So the Income

seasons and agricul
levels cannot be 2 fixed One:

(A) Lifestyle

(B) Sﬂn:ifﬂulturﬂl Background
(C) Economy

ID} All the above

[E) Not attempted

rural marke

= 13«-

CG - CG23

53. T4 =1 999 =UF w9 36 una
Tretor S T e 8
(A) TG 1 e
) fuf e
~(C) = Hifeam
S (D) e # A F
B By anwnfim
54. gfmn § & & 98 wihg don wied
fiyde & TTaT B
{A) T HieH Hel #
lﬁlmg
)
F:;lmﬁﬁf‘-‘
(E) 3rsrnfaa
30 ¥ 50 % &= 1 74
1 3itgd §E Hil
(A) 49.8
(C) 38.8
(E)
frafifas § / S~ 3910 wegFEs §
e A9yt 7
(A) SrerfirR B

T
o

i

(B) 39.8 "
(D) 59.8

56.

refror SR # 37 eTET 2
Sfra-R19 6] FiHd Hed I I 3751 &
afti w ff el ) o ' sfvaada
£ ifs 3 arfermiw diem 3 FE w fnf
2| a7a: 3 T fafvea 76 & v )
(a) Serdefl
{B) FTHTTSER-HIEHTaH JH
(C) Irefeaean
(D) 39 Tt
(E)

57.
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58. Which among the following districts
of Haryana is not drained by Yamuna
river ?

(A) Hisar (B) Panipat
(C) Yamuna Nagar (D) Sonipat
(E) Not attempted

59. A and B together can complete a piece of
work in 4 days, if A alone can complete
the same work in12 days. How many
days can B alone complete that work ?
(A) 7 days (B) 6 days
(C) 5 days (D) 8 days
(E) Not attempted

60. Which of the following diagram
correctly represents Elephants,
! Wolves, Animals ?

(A)

23

L
(B)

(C)

(D)

Blcre

(E) Not attempted

61. What value will replace the question
mark in the following equation ?

1 1 1 2
el flmat] 09_-=13—
42+36+?+ 3 5

1 2
(A) 3'__; (B) 35

3

i D) None of these
(C) 1310 (D)

(E) Not attempted

cG - CG23

58. ﬁﬁﬁ'—lﬁﬁﬁﬁgﬂmﬂnﬁ;aﬂq-mﬁw

i) Teem (B) T
© FFAR (D) WA
(E) FarRE

59. Aaﬂrﬂﬁmﬂ@"ﬂ?ﬂﬁ‘*ﬁﬁﬁm
3 | 2R A 3 T wm R 12 Tl 7 W
Eﬁﬁn%,ﬂ’tEmﬁaﬁﬂaﬂﬂﬁw

gy
RAid s aFar & 7 & £ 12

a) 7 T LBy 6 T ‘%ﬁ‘;—f
() s fem D) 8 fea
(E)

60. Freforfiaa 3 & ww-ar st wefl, A,
ST o wd Al A et ' 7

o@D

@
L-D) o
E:k 8

(E) 3Twaféd

61. fr=fafigs el § SH-o1 4 yoe
g & @A W M 7

1 1 1 2
4—+3—-+7+2—=13=
2 6 " 3 135

1 2
(A) 35 \ 8] 33

© 1375 (D) F & 7§ 74
(E) 3t

-.14-
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. This sports PErson from Haryana was

. What is Solar Eclipse ?

. India is the largest Country in
the World (in terms of area).
(A) 7 (B) 9

- (C) 5 (D) 8

. Battle of Karnal was fought between

+ NDC full form is

Mughal empire.

n{::lm.l}'l&tﬂd for the Dronacharya Award
[Llfetlime Category) in recognition of his
contribution tq the sport of wrestling
in 2022

(A) Raj Singh Chhikkara
(B) Ravi Kumar Dahiya
(C) Vinod Kumar Dahiya
(D) Vijendra Kumar

(E) Not attempted

(A) When Earth comes in between
Moon and Sun

(B) When Sun comes in between
Earth and Moon

(C) When Sun Rays do not reach Earth

(D) When the Moon comes in between
Earth and Sun

(E) Not attempted

(E) Not attempted

and Muha_rnmad Shah of

(A) Lord Warning

(B) Nadir Shah

(C) Sadashiv Rao Bhau
(D) Siraj-ud-daula

(E) Not attempted

=]
R
@5

e
(A) National Defence Cous®

t
(B) National pirectory gﬂ;zgc
(C) National Directo™y o

[D} Naﬁﬂx@ Defﬁﬂcﬂ College
(E) Not attempted
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62. wREmn % 39 faamdt i 2022 § et
81 I AaE B AT
- (VIS 2139 i) B e fawan

(A) T fie fswpra
(B) T T 2
(D) farsig Fwm
(E) rsanfea
63. gimEM AR 7
(A) e <A1 AR g4 % o g 30 9
(B) v& et i <z % e ¥ a7 W

B v A e A A

[=
EEH ;

(_AD) 5= gt 3R g o =i =g o S
(E) STt

64. Y& fawa =1 I (HTFT F
wey #) 2m 3|
7

. s
(E)
65. FAGATIE . IS HHY
% YEWE WIE % o= w1 T |
(A) TS T
\_(B) Tfex e
(C) T T WS
(D) Rrcrr-g-gtem
(E) srsarfad
66. NDC 1 farega &9 2
AA) e fetha @i
(B) Yerrer st wmie
(€) Fuae srrtaedl wis
(D) e 3t widr
(E) v

(B) 9
(D) 8 ;
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cfeif & & gfanT % |
67. Pehowa mela is held in which among | 67. drErat Al
the following district of Haryana ? forer # % !
33 (A) Kurukshetra aaih A ) T
(B) Karnal H’; ;294{ (B) FHLAE
: 2! 1 () arfiTd
q (C) Panipat 3+ kEL>
s 9613 . Y foran
(b - (D) Sirsa .,.-r'f:_‘#jj? . (D)
) - i
+ 22 (E) Not attempted HE %%fa (E) St
68. Who was the Chairman of Steering 68. PR W Hl HACT afifer 1 A

o € Committee of Constituent Assembly ? T ?

[ 4,17 (&) Sardar Vallabhbai Patel (A) TR FeeTaTs T
a (B) K. M. Munshi x B (B) %. wA. gt
53-35 (C) Dr. B. R. Ambedkar (C) <. . am. TR

Ezl W,{D] Dr. Rajendra Pr&sad 3) BE = L,(E(] 21, Teig IH9E
J
:;gf g oo (E) Not attempted (E) T
A
59 Find the sum of all 2 digit number . adt 2 3t 6 39 GEns 1 AN T
215, ‘Tglmsnhle by 3. i ﬂr ;qq st 3 % favrsa 81 42 ISR, - .99
L4t 12, 51, 18, 21,....., 99. ﬂ* | 12, 51, 18, 21,....., 99. TFr2r
@ (A) 1678 (B) 1458 % (A) 1678 (B) 1458 "

gy (C) 1669 (D) 1665 ﬂi (C) 1669 (D) 1665
L1553 (E) Not attempled (3- ,'1{1 (E) Fw=nfaa

uy ’x CE‘;’"’ _

x 33 70. AwarkermayclamRs 15 foreach km | 70. U Saar ¢t & I6E0 = W wia fdt
3;;," '% which he travels by taxi and Rs. 5 for 15 &. ﬁmamﬂﬂﬁ[ﬂﬁqt'gﬁm
k" each km which he drives his own car. ST == P
_!"{‘U If in one week he claimed Rs. 500 for - B I'ﬂﬁﬂﬂimﬁ
TE travelling 80 km, how many kms he Fe 80 Torft aE 0 % forg = 500 @ @
#}} travels by Taxi ? o A1 e T g el T ) 7
W wkm gyl g W 2ofst T €
Efﬁ/f" (B) 30 km v 16X3 m:é% (B) 30 femt j.',la:'l i:;j

SIX 33 /
() 10 km 33 \_le) 10 ff p
s 3 B
%9 (D) 40 km 753 (D) 40 fedi Uidd
3X
(E) Not attempted® ge o
rﬁj" (E) arsrmfera
B A ‘1‘5_
16465

—
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1. Which among the following is the highest
award of Haryana State Govt. for the
outstanding players of Haryana ?

(A) Bhim Awarg

(B) Rani Laxmi Baj Award
(C) Guru Vashisht Award
(D) Maharana Pratap Award
(E) Not attempted

2. Inthe mesosphere, the temperature will
(A) Decrease at first and then increase
(B) Decrease
(C) Stay the same as in the Stratosphere
(D) Increase
(E) Not attempted

3. A deep narrow valley with steep sides
is called a

(A) Gorge

(B) Delta

(C) V-shaped valley

(D) All the above %Eg
[s]=k[=]

(E) Not attempted

4. In each of the following, find the
figure from the answer set which
will continue the series given in the
problem set.

| — | —>
— e
1 2 3 4 .5
-— e —

) =" (B) |=—
o I
s e
'_h' e

(C) | —= (D) ju—
M —

(E) Not attempted

-17-
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71. EfEmT % epw faentsal g s o
TR i AR § TEE R efiiad o
AFA-AR ?

i o FaTE
(B) T @t a1 srard
(C) % afire aETE
(D) WETIO YaTq 37aTs
(E) F9aTiad

72. HEHSd H, A9
(A) Tger gem e s

(B) S

(C) V-3ThT &l =il
(D) I |l

(E) awanfam

74, Tr=fefea & & v s ag=a H | =
gfeu <t gwen wy=g | 4 78 AEen w6
Tt T 7 |

A |=—= (B)

— (D)
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75.

76.

T7.

78.

79.

Which of the following numbers
divisible by 3 ?
(A) 5967013

(C) 541326

(E) Not attempted

(B) 1111
(D) None of these

In March 2023, Haryana became first
State in India to achieve 100%

(A) Adult education

(B) Electrified railway network
(C) Solar installation

(D) Rural electrification

(E) Not attempted

What is the reason behind red soil
developing a reddish colour ?

(A) The presence of potash and magnesia
(B) Due to the presence of iron

(C) Over Grazing

(D) None of these

(E) Not attempted

Which error detection code uses a
single parity bit to detect errors ?

(A) Hamming code

(B) Parity check

(C) Cyclical Redundancy Check (CRC)
(D)} All of the above

(E) Not attempted

An aeroplane flies along the four
sides of a square at the speeds of
200, 400, 600 and 800 km/hr.

Find the average speed of the plane
around the field.
(A) 384 km/hr
(C) 564 km/hr
(E) Not attempted

(B) 444 km/hr
(D) 765 km/hr

CG - CG23

75. e 1 & A e 3y R R 7
(B) 1111~

(D) T & HIS T

() 5967013 *

LAC) 541326
(E) St

76. TE 2023 3, gfmon &9 # 100%
e S AT geen asd =4

(A) FTEH HIET
(B e W T -
(C) i e
\/ﬁmﬁﬂ?ﬂm
(B) STSar

77. mw%mﬁﬁ%sﬁﬂwm%?
(A) e 3R Arfifern A safeafd
\_tB) e i Iufedfa
() tferen =T
(D) ¥ & HI3 e
(E) It

78. FH-H W [EIHEH HS W H1 qal T
3 foru T A foe =1 S AT B 7
(a) 2fim %rg
i) BiE ==
(C) urfaese TETERT 9% (diam)
(D) 39 |t
(E) Ao

79. T §ATs W& 200, 400, 600 FHK
Sonmfhrﬁmﬁ'ﬁﬁﬁﬁﬁ
3T % Ar-E IS R | 8% % 9w

e 3R g Se 6 e iy T =l

S
“_AS) 384 km/hr  (B) 444 km/hr
(C) 564 km/hr (D) 765 km/hr
(E) 3rsenfim
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D.

:11;1; ji-?lmsl:;'ls I_Tlﬂnumem of Buria was

district op ahjahan’s reign in Ambala
°l Haryang

(A) Peacock threpe

(B) Raaj Mahg

(C) Rang Mahg

(D) Red fort

(E) Not attempted

Classification of Rural Markets is
(A) Industrial Market

(B) Services Market

(C) Consumer Market

(D) All the above

(E) Not attempted

In each of the following find the
figure from the answer set which
will continue the series given in the

problem set.

LI L 4

1 2 3 4 5

(4) L'
(B) L‘

Q| —

(D) /

[E) Not attempted

-19-
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80. N 1 TE WiHg Wk WgwRi g

it @ 3faren faer § = m
() Tl T~
(B) T Wee

L/(.e]i?'lqﬁa

(D) THE x
(E) IvEfea

81. U START w1 ST B

(A) SEniies "N
(B) BET I

mym (C) ITHIHI TR

) I |t
(E) 3Awamea

. Fefefea i 3 s s ar=a d 3 3

Ffen <t wen wg=E 8 & 78 gaen S
STt T 2 |

L B | &

1 2 3 4 S

(A) L‘ '
L,

C | —| x

(D) 48

(E) 3T
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83. Where js the Niagara river found ?

84,

85.

86,

(A) India
(B) Australia
(C) North-America

(D) Japan
(E) Not attempted

Rewari Railway Heritage Museum
of Haryana had world's oldest still
functional steam locomotive known as

(A) Himalayan Queen

(B) Fairy Queen '
(C) Iron Lady

(D) Shimla Kalka Express

(E) Not attempted

Who was the Chairman of Drafting
Committee of Constituent Assembly ?

(A) Sardar Vallabhbai Patel
(B) K. M. Munshi

(C) Dr. B. R. Ambedkar
(D) Dr. Rajendra Prasad
(E) Not attempted

Complete the following Analogy.
Vitamin A : Retinol :: VitaminC: __
(A) Calciterol

(B) Niacin

(C) Tocopherol

(D) Ascorbic acid

(E) Not attempted

e 1 T Wy W— C—

e 3 Yard Yol wnErer A favd
ﬁmmmﬁaﬁ;@n?ﬁaﬁﬁﬁa
gP@_ wEael

(A) Femmer ==

t_48) Sl =

(C) 3TFH &g

(D) Rr=T FTerR TEE

(E) AT

84.

dfum w6 gy afufa %1 g
Caci i
i (A) mﬂmﬂﬁﬁqﬁﬁ
204 (B) %. T W
LAC) . . . T
(D) =T. TSig 7]
(E) Fwnféd

86. fmferRan wmewa i Hifsng |
faafim A : @rie o faafem e .
(A) Hedetre
(B) frnfam
(C) ikt
D) UEhifeeh v

85.

(E) s

-20-
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7. Nabh Chhor is the leading evening
newspaper published from
district of Haryana.
(A) Palwal
(B) Hisar
(C) Sonipat
(D) Rohtak
(E) Not attempted

A sum of Rs, 800 amounts to Rs. 920
in 3 years at simple interest. If the
interest rate is increased by 3%, it
would amount to how much ?

(A) 995 (B) 997

(C) 998 (D) 992

(E} Not attempted

Complete the following Analogy.
Ayurveda : Medicine :: Dhanurveda :

(A) Music

(B) Acting

(C) Archery

(D) None of the above
(E) Not attempted

B3

@i

is the most important and

widespread category, it covers 40% of
the land area. In fact the entire Northern

plains are made up of these soils.
(A) Red soil

(B) Laterite soil

(C) Alluvial soil

(D) Black soil

(E) Not attempted

<21~

CG - CG23

g7. ME, efgmnE_ Faw
TEHIRTE B aren 3l Geq GuEned 2 |

(A) TeTeed
) T

(C) WHE v

D) Ew

(B) st

%. 800 &I v Ul 3 94 # Aryny =5
W E. 920 & 9T 2 | Al = e 3%
we Al 7, 91 3aeh! Uty Feadt Brft 7 @

[ (A) 995 (B) 997 gy
S (C) 998 BT 992 il -4
(E) 3rwantema
89. Tmafafes wwevar gof ifs
AT : 3Ty ;99T
»(A) i
(B) Ffirg
AC) ¥
(D) 39t § & wIE el
(E) aTsanfae
90. __ wdifis weeaqul 3R g&g dvft @,
§Eh Iaia 40% -8 I 8| afew
qu Iull Agw gl e A w0 R |
(A) ©ITeT T
(B) wreTmge &l
(AC) g T2
(D) el 1T
(E) srsrnfer
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English Language

_— = .
91. How many tense arc there 111 English % E-'*“ 7 bt
Grammar ? i
@ 2 B 3 ) T
(C) 8 (D) 4 (B) T
(E) Not attempted (C) ATl
(D)
92. Complete the following Analogy- (E)
Before : After :: Enjoy
(A) Sad 97. o, g, W, | 3G h I T }
(B) Happy _AK) &
Lie) Suffer (B) -Tfm
S o it gy (O T
{ } ot attemp gn; {D] Tﬂﬁﬁ]‘
g3. How many types of nouns are there (E) avafea

in English grammar ?

98. @frmary frad TR 7

Bi 2 A) 6 (B) 4
— E o) 2 D) 5 () T
N (E) Not attempted L/{B] R '!'g'Fl'a
(C) FH
94. Complete the following Analogy. (D) aEEaF
Hen : Pullet :: Kangaroo :
(A) Calf (E) 3Twnfaa
(B) Pup 90, R g H A R 2 7
(E) Not attempted Li€) 2 @) 1
(E) A5
95. The past participle form of the verb 100
(A) Drew =9
(B) Draw 2 _+4) a9 1903
(C) Drawing o, (B) @4 1906
Drawn (C) =4 1909
(E) Not attempted (D) =¥ 1900
(E) srsranfad
——‘Nﬁz‘\—-—.
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